

BIG RED INVITATIONAL

2026



2026 BIG RED INVITE

Tournament Standings - Final

POS	TEAM	WON	LOSS	Baker Match 01	Baker Match 02	Baker Match 03	Baker Match 04	Baker Match 05	Trad Match 01	Trad Match 02	Trad Match 03	Trad Match 04	Trad Match 05	Trad Match 06	Total Baker	Total Trad	Total Pins	Total Games	Avg/Gm
1	WICHITA STATE UNIVERSITY	5	8	1,018	1,006	1,066	1,079	986	980	977	1,084	1,024	995	1,005	5,155	6,065	14,131	68	207.8
2	JACKSONVILLE STATE UNIVERSITY	12	1	1,057	1,135	1,068	1,143	1,103	1,154	1,001	1,125	1,012	949	1,231	5,506	6,472	14,611	68	214.9
3	NEBRASKA, UNIV. OF	8	5	1,033	1,058	1,050	919	981	1,103	1,130	1,082	941	1,154	947	5,041	6,357	13,951	68	205.2
4	MARYVILLE UNIVERSITY	8	5	955	1,023	1,083	1,079	968	1,030	1,014	967	1,034	950	990	5,108	5,985	13,653	68	200.8
5	VANDERBILT UNIVERSITY	6	7	991	1,020	1,100	957	998	1,045	1,053	896	975	896	1,007	5,066	5,872	13,535	68	199.0
6	LOUISIANA TECH UNIVERSITY	8	5	1,014	1,028	950	1,031	970	996	998	965	958	935	1,078	4,993	5,930	13,604	68	200.1
7	ARKANSAS STATE UNIVERSITY	8	5	907	969	977	1,028	1,052	1,006	1,092	998	983	1,061	914	4,933	6,054	13,409	67	200.1
8	SAM HOUSTON STATE UNIVERSITY	7	6	961	985	920	969	1,009	1,025	1,060	1,030	1,042	944	1,007	4,844	6,108	13,332	67	199.0
9	YOUNGSTOWN STATE UNIVERSITY	8	5	973	1,027	1,029	894	906	1,009	948	1,136	911	1,014	1,021	4,829	6,039	12,693	64	198.3
10	MCKENDREE UNIVERSITY	6	7	1,054	918	994	1,076	960	920	909	923	946	913	986	5,002	5,597	12,572	65	193.4
11	WESTERN ILLINOIS UNIVERSITY	1	12	894	807	882	887	855	836	860	929	904	807	875	4,325	5,211	11,182	64	174.7
12	QUINCY UNIVERSITY	1	12	888	867	830	861	976	818	861	1,014	915	789	829	4,422	5,226	11,297	65	173.8

2026 BIG RED INVITE

Sunday Championship Bracket

Second Round (Losers from Round 1)

First Round

Second Round (Winners from Round 1)

Final Standings

MARYVILLE UNIVERSITY										1 JACKSONVILLE STATE UNIVERSITY									
180	172	198	215	190	207	199				192	245	188	181	208	199				
Lanes 9-10										Lanes 19-20									
										4 MARYVILLE UNIVERSITY									
223	176	192	187	203	184	214				184	238	214	201	181	181				
NEBRASKA, UNIV. OF										2 NEBRASKA, UNIV. OF									
223	176	192	187	203	184	214				203	233	205	159	178	196				
NEBRASKA, UNIV. OF										Lanes 15-16									
NEBRASKA, UNIV. OF										3 WICHITA STATE UNIVERSITY									
223	176	192	187	203	184	214				176	233	211	180	264	289				
NEBRASKA, UNIV. OF										Lanes 15-16									

JACKSONVILLE STATE UNIVERSITY										JACKSONVILLE STATE UNIVERSITY									
213	206	213	192	190	224	182				213	206	213	192	190	224	182			
Lanes 13-14										Lanes 13-14									
										WICHITA STATE UNIVERSITY									
WICHITA STATE UNIVERSITY										WICHITA STATE UNIVERSITY									
194	228	176	232	181	268	279				194	228	176	232	181	268	279			
WICHITA STATE UNIVERSITY										Lanes 13-14									

WICHITA STATE UNIVERSITY									
1st Place									
JACKSONVILLE STATE UNIVERSITY									
2nd Place									
NEBRASKA, UNIV. OF									
3rd Place									
MARYVILLE UNIVERSITY									
4th Place									

ARKANSAS STATE UNIVERSITY										5 ARKANSAS STATE UNIVERSITY									
210	247	140	215	222						176	188	226	193	212	202	191			
Lanes 19-20										Lanes 7-8									
										8 LOUISIANA TECH UNIVERSITY									
210	247	140	215	222						204	182	200	214	206	203	214			
ARKANSAS STATE UNIVERSITY										Lanes 7-8									
SAM HOUSTON STATE UNIVERSITY										6 SAM HOUSTON STATE UNIVERSITY									
197	226	204	187	183						199	213	204	238	187	179	163			
SAM HOUSTON STATE UNIVERSITY										Lanes 9-10									
SAM HOUSTON STATE UNIVERSITY										7 VANDERBILT UNIVERSITY									
197	226	204	187	183						166	203	215	143	198	181	230			
SAM HOUSTON STATE UNIVERSITY										Lanes 9-10									

LOUISIANA TECH UNIVERSITY										LOUISIANA TECH UNIVERSITY									
212	237	183	243	192	191					212	237	183	243	192	191				
Lanes 21-22										Lanes 21-22									
										VANDERBILT UNIVERSITY									
VANDERBILT UNIVERSITY										VANDERBILT UNIVERSITY									
227	185	268	175	203	203					227	185	268	175	203	203				
VANDERBILT UNIVERSITY										Lanes 21-22									

VANDERBILT UNIVERSITY									
5th Place									
LOUISIANA TECH UNIVERSITY									
6th Place									
ARKANSAS STATE UNIVERSITY									
7th Place									
SAM HOUSTON STATE UNIVERSITY									
8th Place									

WESTERN ILLINOIS UNIVERSITY										9 YOUNGSTOWN STATE UNIVERSITY									
221	171	181	243	173						223	199	220	188						
Lanes 7-8										Lanes 21-22									
										12 WESTERN ILLINOIS UNIVERSITY									
221	171	181	243	173						146	155	180	176						
WESTERN ILLINOIS UNIVERSITY										Lanes 21-22									
QUINCY UNIVERSITY										10 MCKENDREE UNIVERSITY									
154	134	194	166	162						182	188	226	226	221					
QUINCY UNIVERSITY										Lanes 13-14									
QUINCY UNIVERSITY										11 QUINCY UNIVERSITY									
154	134	194	166	162						192	137	180	195	135					
QUINCY UNIVERSITY										Lanes 13-14									

YOUNGSTOWN STATE UNIVERSITY										YOUNGSTOWN STATE UNIVERSITY									
214	211	203	178	189						214	211	203	178	189					
Lanes 15-16										Lanes 15-16									
										MCKENDREE UNIVERSITY									
MCKENDREE UNIVERSITY										MCKENDREE UNIVERSITY									
161	204	225	169	171						161	204	225	169	171					
MCKENDREE UNIVERSITY										Lanes 15-16									

YOUNGSTOWN STATE UNIVERSITY									
9th Place									
MCKENDREE UNIVERSITY									
10th Place									
WESTERN ILLINOIS UNIVERSITY									
11th Place									
QUINCY UNIVERSITY									
12th Place									

2026 BIG RED INVITE

Individual Standings

POS	BOWLER	SCHOOL	Sum of GAME 1	Sum of GAME 2	Sum of GAME 3	Sum of GAME 4	Sum of GAME 5	Sum of GAME 6	Sum of TOTAL	Sum of GAMES	Sum of Avg
1	MARTIN, JILLIAN	NEBRASKA, UNIV. OF	258	259	275	164	234	206	1,396	6	232.67
2	OBRYANT, ANNALISE	JACKSONVILLE STATE UNIVERSITY	238	182	257	223	161	297	1,358	6	226.33
3	GREEN, MIYA	SAM HOUSTON STATE UNIVERSITY	269	202	233	206	193	235	1,338	6	223.00
4	STULL, KAITLYN	JACKSONVILLE STATE UNIVERSITY	233	186	225	227	205	258	1,334	6	222.33
5	CHRZANOWSKI, AMY	YOUNGSTOWN STATE UNIVERSITY	198	235	226	190	255	226	1,330	6	221.67
6	TEUBER, ELIZABETH	MARYVILLE UNIVERSITY	204	201	212	213	267	225	1,322	6	220.33
7	TREXLER, KYLEE	LOUISIANA TECH UNIVERSITY	226	195	212	204	225	248	1,310	6	218.33
8	SWINDLE, HALEY	NEBRASKA, UNIV. OF	247	241	214	204	238	164	1,308	6	218.00
9	CHEWENS, BREANA	SAM HOUSTON STATE UNIVERSITY	202	235	204	254	202	200	1,297	6	216.17
10	BRANDOLINO, GIANNA	JACKSONVILLE STATE UNIVERSITY	234	229	236	177	201	214	1,291	6	215.17
11	THOMA, MAGGIE	ARKANSAS STATE UNIVERSITY	201	300	201	227	170	183	1,282	6	213.67
12	BRUNNER, MORGAN	MARYVILLE UNIVERSITY	216	211	181	259	203	203	1,273	6	212.17
13	WOODS, ASHTYN	WICHITA STATE UNIVERSITY	226	207	212	207	200	191	1,243	6	207.17
14	HARTZLER, BRENNAN	NEBRASKA, UNIV. OF	215	226	193	184	239	181	1,238	6	206.33
15	SARNTONG, NOEY	SAM HOUSTON STATE UNIVERSITY	210	216	202	195	186	213	1,222	6	203.67
16	DUQUE, SARA	WICHITA STATE UNIVERSITY	194	203	247	193	176	208	1,221	6	203.50
17	HART, EMILY	SAM HOUSTON STATE UNIVERSITY	170	224	214	216	188	193	1,205	6	200.83
18	LANG, AMANDA	ARKANSAS STATE UNIVERSITY	212	194	213	216	191	175	1,201	6	200.17
19	STRETCH, JENNA	LOUISIANA TECH UNIVERSITY	210	235	205	186	201	164	1,201	6	200.17
20	VARANO, VICTORIA	VANDERBILT UNIVERSITY	196	249	172	192	167	220	1,196	6	199.33
21	ODEN, ALEESHA	WICHITA STATE UNIVERSITY	203	203	178	188	213	205	1,190	6	198.33
22	VANDUINEN, KARLI	ARKANSAS STATE UNIVERSITY	208	171	230	171	245	159	1,184	6	197.33
23	BACK, KAYLEE	ARKANSAS STATE UNIVERSITY	197	226	158	200	208	188	1,177	6	196.17
24	AVALOS, PAULINA	LOUISIANA TECH UNIVERSITY	192	198	194	208	189	193	1,174	6	195.67
25	LINDLEY, HALEY	VANDERBILT UNIVERSITY	245	183	173	223	151	193	1,168	6	194.67
26	BEISSEL, KARA	YOUNGSTOWN STATE UNIVERSITY	167	171	277	182	176	193	1,166	6	194.33
27	MASON, AMBER	YOUNGSTOWN STATE UNIVERSITY	215	204	195	201	186	159	1,160	6	193.33
28	BENNETT, HAYDEN	QUINCY UNIVERSITY	151	190	244	202	180	183	1,150	6	191.67
29	INGERSOLL, ALEXIS	MARYVILLE UNIVERSITY	202	217	199	180	157	195	1,150	6	191.67
30	JOHNSON, CAITLYN	MARYVILLE UNIVERSITY	184	210	195	213	164	183	1,149	6	191.50
31	ABIGANIA, KATELYN	VANDERBILT UNIVERSITY	200	178	194	221	156	183	1,132	6	188.67
32	HUNTING, JAYDYN	WESTERN ILLINOIS UNIVERSITY	152	154	173	225	184	222	1,110	6	185.00
33	STEINKE, ANGELA	WESTERN ILLINOIS UNIVERSITY	180	159	215	178	190	160	1,082	6	180.33
34	MORENO, MALEENA	WESTERN ILLINOIS UNIVERSITY	135	204	202	200	138	178	1,057	6	176.17
35	GARCIA, FERNANDA	QUINCY UNIVERSITY	177	178	194	223	133	149	1,054	6	175.67
36	JOHNSON, MACIE	QUINCY UNIVERSITY	178	170	175	168	154	160	1,005	6	167.50
37	KLINE, MORGAN	WICHITA STATE UNIVERSITY	0	161	225	192	211	200	989	5	197.80
38	WILLIAMS, CASSIDY	WESTERN ILLINOIS UNIVERSITY	178	150	193	156	158	151	986	6	164.33
39	HENDERSON, DANNIELLE	VANDERBILT UNIVERSITY	184	238	190	158	0	207	977	5	195.40
40	KIMBALL, SHANNA	MCKENDREE UNIVERSITY	0	182	171	181	207	203	944	5	188.80
41	GONZALES, ANA	SAM HOUSTON STATE UNIVERSITY	174	183	177	171	0	166	871	5	174.20
42	HERDKLOTZ, HANNAH	QUINCY UNIVERSITY	151	172	213	152	0	181	869	5	173.80
43	ANDERSON, BEAU	WICHITA STATE UNIVERSITY	0	203	222	244	195	0	864	4	216.00
44	VARANO, GIANNA	YOUNGSTOWN STATE UNIVERSITY	0	0	247	181	186	243	857	4	214.25
45	ERESBEY, MELINA	WESTERN ILLINOIS UNIVERSITY	191	193	146	145	0	164	839	5	167.80
46	ONG, RACHEL	LOUISIANA TECH UNIVERSITY	212	177	189	0	0	249	827	4	206.75
47	KLEMENCIC, ERIN	JACKSONVILLE STATE UNIVERSITY	192	205	205	0	0	220	822	4	205.50
48	CASE, ADDYSEN	MCKENDREE UNIVERSITY	0	194	206	186	0	221	807	4	201.75

2026 BIG RED INVITE INDIVIDUAL MATCH RESULTS

1		BAKER		
7-8	JACKSONVILLE STATE UNIVERSITY	1,057	VANDERBILT UNIVERSITY	991
9-10	ARKANSAS STATE UNIVERSITY	907	QUINCY UNIVERSITY	888
13-14	YOUNGSTOWN STATE UNIVERSITY	973	WESTERN ILLINOIS UNIVERSITY	894
15-16	MARYVILLE UNIVERSITY	955	LOUISIANA TECH UNIVERSITY	1,014
19-20	MCKENDREE UNIVERSITY	1,054	WICHITA STATE UNIVERSITY	1,018
21-22	SAM HOUSTON STATE UNIVERSITY	961	NEBRASKA, UNIV. OF	1,033

2		BAKER		
7-8	QUINCY UNIVERSITY	867	YOUNGSTOWN STATE UNIVERSITY	1,027
9-10	WESTERN ILLINOIS UNIVERSITY	807	VANDERBILT UNIVERSITY	1,020
13-14	NEBRASKA, UNIV. OF	1,058	ARKANSAS STATE UNIVERSITY	969
15-16	MCKENDREE UNIVERSITY	918	SAM HOUSTON STATE UNIVERSITY	985
19-20	JACKSONVILLE STATE UNIVERSITY	1,135	MARYVILLE UNIVERSITY	1,023
21-22	WICHITA STATE UNIVERSITY	1,006	LOUISIANA TECH UNIVERSITY	1,028

3		BAKER		
7-8	MCKENDREE UNIVERSITY	994	ARKANSAS STATE UNIVERSITY	977
9-10	JACKSONVILLE STATE UNIVERSITY	1,068	WICHITA STATE UNIVERSITY	1,066
13-14	SAM HOUSTON STATE UNIVERSITY	920	QUINCY UNIVERSITY	830
15-16	YOUNGSTOWN STATE UNIVERSITY	1,029	NEBRASKA, UNIV. OF	1,050
19-20	LOUISIANA TECH UNIVERSITY	950	VANDERBILT UNIVERSITY	1,100
21-22	WESTERN ILLINOIS UNIVERSITY	882	MARYVILLE UNIVERSITY	1,083

7		TRADITIONAL		
7-8	WICHITA STATE UNIVERSITY	977	VANDERBILT UNIVERSITY	1,053
9-10	MARYVILLE UNIVERSITY	1,014	YOUNGSTOWN STATE UNIVERSITY	948
13-14	SAM HOUSTON STATE UNIVERSITY	1,060	ARKANSAS STATE UNIVERSITY	1,092
15-16	NEBRASKA, UNIV. OF	1,130	QUINCY UNIVERSITY	861
19-20	MCKENDREE UNIVERSITY	909	JACKSONVILLE STATE UNIVERSITY	1,001
21-22	LOUISIANA TECH UNIVERSITY	998	WESTERN ILLINOIS UNIVERSITY	860

8		TRADITIONAL		
7-8	SAM HOUSTON STATE UNIVERSITY	1,030	MARYVILLE UNIVERSITY	967
9-10	MCKENDREE UNIVERSITY	923	NEBRASKA, UNIV. OF	1,082
13-14	JACKSONVILLE STATE UNIVERSITY	1,125	LOUISIANA TECH UNIVERSITY	965
15-16	YOUNGSTOWN STATE UNIVERSITY	1,136	WICHITA STATE UNIVERSITY	1,084
19-20	WESTERN ILLINOIS UNIVERSITY	929	QUINCY UNIVERSITY	1,014
21-22	ARKANSAS STATE UNIVERSITY	998	VANDERBILT UNIVERSITY	896

9		TRADITIONAL		
7-8	NEBRASKA, UNIV. OF	941	LOUISIANA TECH UNIVERSITY	958
9-10	JACKSONVILLE STATE UNIVERSITY	1,012	WESTERN ILLINOIS UNIVERSITY	904
13-14	WICHITA STATE UNIVERSITY	1,024	MARYVILLE UNIVERSITY	1,034
15-16	SAM HOUSTON STATE UNIVERSITY	1,042	VANDERBILT UNIVERSITY	975
19-20	YOUNGSTOWN STATE UNIVERSITY	911	ARKANSAS STATE UNIVERSITY	983
21-22	MCKENDREE UNIVERSITY	946	QUINCY UNIVERSITY	915

4		BAKER		
7-8	MARYVILLE UNIVERSITY	1,079	NEBRASKA, UNIV. OF	919
9-10	YOUNGSTOWN STATE UNIVERSITY	894	LOUISIANA TECH UNIVERSITY	1,031
13-14	MCKENDREE UNIVERSITY	1,076	VANDERBILT UNIVERSITY	957
15-16	WICHITA STATE UNIVERSITY	1,079	QUINCY UNIVERSITY	861
19-20	SAM HOUSTON STATE UNIVERSITY	969	WESTERN ILLINOIS UNIVERSITY	887
21-22	JACKSONVILLE STATE UNIVERSITY	1,143	ARKANSAS STATE UNIVERSITY	1,028

5		BAKER		
7-8	SAM HOUSTON STATE UNIVERSITY	1,009	LOUISIANA TECH UNIVERSITY	970
9-10	MCKENDREE UNIVERSITY	960	MARYVILLE UNIVERSITY	968
13-14	JACKSONVILLE STATE UNIVERSITY	1,103	YOUNGSTOWN STATE UNIVERSITY	906
15-16	WESTERN ILLINOIS UNIVERSITY	855	ARKANSAS STATE UNIVERSITY	1,052
19-20	WICHITA STATE UNIVERSITY	986	NEBRASKA, UNIV. OF	981
21-22	VANDERBILT UNIVERSITY	998	QUINCY UNIVERSITY	976

6		TRADITIONAL		
7-8	LOUISIANA TECH UNIVERSITY	996	ARKANSAS STATE UNIVERSITY	1,006
9-10	WESTERN ILLINOIS UNIVERSITY	836	WICHITA STATE UNIVERSITY	980
13-14	YOUNGSTOWN STATE UNIVERSITY	1,009	MCKENDREE UNIVERSITY	920
15-16	JACKSONVILLE STATE UNIVERSITY	1,154	SAM HOUSTON STATE UNIVERSITY	1,025
19-20	NEBRASKA, UNIV. OF	1,103	VANDERBILT UNIVERSITY	1,045
21-22	QUINCY UNIVERSITY	818	MARYVILLE UNIVERSITY	1,030

10		TRADITIONAL		
7-8	JACKSONVILLE STATE UNIVERSITY	949	QUINCY UNIVERSITY	789
9-10	WICHITA STATE UNIVERSITY	995	ARKANSAS STATE UNIVERSITY	1,061
13-14	WESTERN ILLINOIS UNIVERSITY	807	NEBRASKA, UNIV. OF	1,154
15-16	MCKENDREE UNIVERSITY	913	LOUISIANA TECH UNIVERSITY	935
19-20	MARYVILLE UNIVERSITY	950	VANDERBILT UNIVERSITY	896
21-22	SAM HOUSTON STATE UNIVERSITY	944	YOUNGSTOWN STATE UNIVERSITY	1,014

11		TRADITIONAL		
7-8	MCKENDREE UNIVERSITY	986	WESTERN ILLINOIS UNIVERSITY	875
9-10	QUINCY UNIVERSITY	829	LOUISIANA TECH UNIVERSITY	1,078
13-14	VANDERBILT UNIVERSITY	1,007	YOUNGSTOWN STATE UNIVERSITY	1,021
15-16	ARKANSAS STATE UNIVERSITY	914	MARYVILLE UNIVERSITY	990
19-20	WICHITA STATE UNIVERSITY	1,005	SAM HOUSTON STATE UNIVERSITY	1,007
21-22	JACKSONVILLE STATE UNIVERSITY	1,231	NEBRASKA, UNIV. OF	947

N/A				
7-8				
9-10				
13-14				
15-16				
19-20				
21-22				

2026 BIG RED INVITE

TEAM GAMES

JACKSONVILLE STATE UNIVERSITY	Trad Match 01	Trad Match 02	Trad Match 03	Trad Match 04	Trad Match 05	Trad Match 06	Series	Games	Average
MITSKAVICH, MELIA	-	-	-	181	181	-	362	2	181.0
MAGSAM, KEIRA	-	-	202	204	201	-	607	3	202.3
YODER, EMMA	257	199	-	-	-	242	698	3	232.7
OBRyant, ANNALISE	238	182	257	223	161	297	1,358	6	226.3
STULL, KAITLYN	233	186	225	227	205	258	1,334	6	222.3
LEIENDECKER, ABBIE	-	-	-	-	-	-	-	-	0.0
BRANDOLINO, GIANNA	234	229	236	177	201	214	1,291	6	215.2
KLEMENCIC, ERIN	192	205	205	-	-	220	822	4	205.5
,	-	-	-	-	-	-	-	-	0.0
,	-	-	-	-	-	-	-	-	0.0
TIEBREAKER	-	-	-	-	-	-	-	-	0.0
Total	1,154	1,001	1,125	1,012	949	1,231	6,472	30	1078.7
Opponent Score	1,025	909	965	904	789	947	5,539		923.2
Opponent	SHSU	MCK	LTU	DRU	QUI	NEB			
W/L	W	W	W	W	W	W			6 - 0

QUAD BAKER MATCHES

Baker Match 01	Baker Match 02	Baker Match 03	Baker Match 04	Baker Match 05	Total Baker
244	247	246	212	209	
194	244	227	186	213	
192	238	149	276	233	
216	205	225	223	237	
211	201	221	246	211	
-	-	-	-	-	
-	-	-	-	-	
1,057	1,135	1,068	1,143	1,103	5,506
991	1,023	1,066	1,028	906	5,014
VAN	MAR	WSU	ARK	YSU	
W	W	W	W	W	5 - 0

BEST OF BAKER

Game 1	xRND 1	xRND 2
192	213	
245	206	
188	213	
181	192	
208	190	
199	224	
-	182	
Tie Breaker	-	-
-	-	-
Total	1,213	1,420
Opponent Score	1,199	1,558
Opponent	MAR	WSU
W/L	4-2	3-4

VANDERBILT UNIVERSITY	Trad Match 01	Trad Match 02	Trad Match 03	Trad Match 04	Trad Match 05	Trad Match 06	Series	Games	Average
ABIGANIA, KATELYN	200	178	194	221	156	183	1,132	6	188.67
HENDERSON, DANNIELLE	184	238	190	158	-	207	977	5	195.40
VARANO, VICTORIA	196	249	172	192	167	220	1,196	6	199.33
LINDLEY, HALEY	245	183	173	223	151	193	1,168	6	194.67
KENT, NATALIE	-	-	-	-	214	-	214	1	214.00
BOHN, SYDNEY	-	-	-	-	208	-	208	1	208.00
BALLARD, ALYSSA	-	205	167	-	-	-	372	2	186.00
DOMAGUIN, AVERY	-	-	-	181	-	-	181	1	181.00
NOFUENTE, SAPHYRE	220	-	-	-	-	204	424	2	212.00
YEAGER, TAMIA	-	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	-	0.00
Total	1,045	1,053	896	975	896	1,007	5,872	30	978.7
Opponent Score	1,103	977	998	1,042	950	1,021	6,091		1015.2
Opponent	NEB	WSU	ARK	SHSU	MAR	YSU			
W/L	L	W	L	L	L	L			1 - 5

Baker Match 01	Baker Match 02	Baker Match 03	Baker Match 04	Baker Match 05	Total Baker
178	203	188	190	208	
188	190	238	188	170	
208	192	289	185	203	
210	180	161	213	203	
207	255	224	181	214	
-	-	-	-	-	
-	-	-	-	-	
991	1,020	1,100	957	998	5,066
1,057	807	950	1,076	976	4,866
JVL	DRU	LTU	MCK	QUI	
L	W	W	L	W	3 - 2

Game 1	xRND 1	xRND 2
166	227	
203	185	
215	268	
143	175	
198	203	
181	203	
230	-	
Tie Breaker	-	-
-	-	-
Total	1,336	1,261
Opponent Score	1,383	1,258
Opponent	SHSU	LTU
W/L	4-3	4-2

ARKANSAS STATE UNIVERSITY	Trad Match 01	Trad Match 02	Trad Match 03	Trad Match 04	Trad Match 05	Trad Match 06	Series	Games	Average
SCHNURR, JESSICA	-	-	-	-	-	-	-	-	0.00
FLEMING, VICTORIA	-	-	-	-	-	-	-	-	0.00
BACK, KAYLEE	197	226	158	200	208	188	1,177	6	196.17
RUSZCZAK, KAITLYN	-	-	-	-	247	209	456	2	228.00
THOMA, MAGGIE	201	300	201	227	170	183	1,282	6	213.67
AUCLAIR, ALEX-ANNE	188	201	196	169	-	-	754	4	188.50
LANG, AMANDA	212	194	213	216	191	175	1,201	6	200.17
KIDDLE, AUBREY	-	-	-	-	-	-	-	-	0.00
CHZVEZ, MALAYA	-	-	-	-	-	-	-	-	0.00
VANDUINEN, KARLI	208	171	230	171	245	159	1,184	6	197.33
TIEBREAKER	-	-	-	-	-	-	-	-	0.00
Total	1,006	1,092	998	983	1,061	914	6,054	30	1009.0
Opponent Score	996	1,060	896	911	995	990	5,848		974.7
Opponent	LTU	SHSU	VAN	YSU	WSU	MAR			
W/L	W	W	W	W	W	L			5 - 1

Baker Match 01	Baker Match 02	Baker Match 03	Baker Match 04	Baker Match 05	Total Baker
181	226	157	195	211	
196	196	158	207	181	
161	182	232	199	242	
201	191	225	203	210	
168	174	205	224	208	
-	-	-	-	-	
-	-	-	-	-	
907	969	977	1,028	1,052	4,933
888	1,058	994	1,143	855	4,938
QUI	NEB	MCK	JVL	DRU	
W	L	L	L	W	2 - 3

Game 1	xRND 1	xRND 2
176	210	
188	247	
226	140	
193	215	
212	222	
202	-	
191	-	
Tie Breaker	-	-
-	-	-
Total	1,388	1,034
Opponent Score	1,423	997
Opponent	LTU	SHSU
W/L	3-4	4-1

QUINCY UNIVERSITY	Trad Match 01	Trad Match 02	Trad Match 03	Trad Match 04	Trad Match 05	Trad Match 06	Series	Games	Average
BENNETT, HAYDEN	151	190	244	202	180	183	1,150	6	191.67
BROUGHTON, CHLOE	-	-	-	-	-	-	-	-	0.00
FIELDS, LILLIAN	161	151	-	-	146	156	614	4	153.50
GARCIA, FERNANDA	177	178	194	223	133	149	1,054	6	175.67
HERDKLOTZ, HANNAH	151	172	213	152	-	181	869	5	173.80
JOHNSON, MACIE	178	170	175	168	154	160	1,005	6	167.50
MCPEAK, MACKINZIE	-	-	188	170	176	-	534	3	178.00
,	-	-	-	-	-	-	-	-	0.00
,	-	-	-	-	-	-	-	-	0.00
,	-	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	-	0.00
Total	818	861	1,014	915	789	829	5,226	30	871.0
Opponent Score	1,030	1,130	929	946	949	1,078	6,062		1010.3
Opponent	MAR	NEB	DRU	MCK	JVL	LTU			

Baker Match 01	Baker Match 02	Baker Match 03	Baker Match 04	Baker Match 05	Total Baker
171	231	162	188	196	
214	163	190	154	201	
179	161	174	166	174	
147	148	146	197	210	
177	164	158	156	195	
-	-	-	-	-	
-	-	-	-	-	
888	867	830	861	976	4,422
907	1,027	920	1,079	998	4,931
ARK	YSU	SHSU	WSU	VAN	

Game 1	xRND 1	xRND 2
192	154	
137	134	
180	194	
195	166	
135	162	
-	-	
-	-	
Tie Breaker	-	-
-	-	-
Total	839	810
Opponent Score	1,043	989
Opponent	MCK	DRU

2026 BIG RED INVITE

Opponent W/L	ARK L	DRU W	JVL L	NEB W	MCK W	QUI W	4 - 2	MAR W	WSU W	VAN L	YSU W	SHSU L	3 - 2	Opponent W/L	ARK 4-3	VAN 2-4
-----------------	----------	----------	----------	----------	----------	----------	-------	----------	----------	----------	----------	-----------	-------	-----------------	------------	------------

2026 BIG RED INVITE

MCKENDREE UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05	Match 06			
OGLE, GRACE	169	-	-	214	180	166	729	4	182.25
CASE, ADDYSEN	-	194	206	186	-	221	807	4	201.75
VALADEZ, ALEXA	-	187	201	180	170	-	738	4	184.50
PORTA, VICTORIA	186	188	-	-	-	-	374	2	187.00
BROWN, CIERRA	186	-	163	-	-	-	349	2	174.50
LEWIS, AVA	-	-	-	185	199	-	384	2	192.00
KIMBALL, SHANNA	-	182	171	181	207	203	944	5	188.80
ZINN, EMMA	186	-	-	-	-	212	398	2	199.00
SMITH, JAYCIE	193	158	-	-	157	184	692	4	173.00
DIAZ, ENAIRYS	-	-	182	-	-	-	182	1	182.00
TIEBREAKER	-	-	-	-	-	-	-	-	-
Total	920	909	923	946	913	986	5,597	30	932.8
Opponent Score	1,009	1,001	1,082	915	935	875	5,817		969.5
Opponent	YSU	JVL	NEB	QUI	LTU	DRU			
W/L	L	L	L	W	L	W			2 - 4

Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2
	Match 01	Match 02	Match 03	Match 04											
206	135	183	235	197		182	161								
234	205	175	233	195		188	204								
182	177	212	224	174		226	225								
218	201	243	181	191		226	169								
214	200	181	203	203		221	171								
-	-	-	-	-		-	-								
-	-	-	-	-		-	-								
1,054	918	994	1,076	960	5,002	1,043	930								
1,018	985	977	957	968	4,905	839	995								
WSU	SHSU	ARK	VAN	MAR		QUI	YSU								
W	L	W	W	L	3 - 2	4-1	1-4								

WICHITA STATE UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05	Match 06			
DUQUE, SARA	194	203	247	193	176	208	1,221	6	203.50
WOODS, ASHTYN	226	207	212	207	200	191	1,243	6	207.17
KLINE, MORGAN	-	161	225	192	211	200	989	5	197.80
ODEN, ALEESHA	203	203	178	188	213	205	1,190	6	198.33
ANDERSON, BEAU	-	203	222	244	195	-	864	4	216.00
BOLLEA, KENDALL	187	-	-	-	-	-	187	1	187.00
DEBELLO, ERICA	-	-	-	-	-	-	-	-	0.00
MCDUGLE, ALENA	-	-	-	-	-	-	-	-	0.00
WAGNER, PAIGE	170	-	-	-	-	201	371	2	185.50
PHILLIPS, MADI	-	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	-	-
Total	980	977	1,084	1,024	995	1,005	6,065	30	1010.8
Opponent Score	836	1,053	1,136	1,034	1,061	1,007	6,127		1021.2
Opponent	DRU	VAN	YSU	MAR	ARK	SHSU			
W/L	W	L	L	L	L	L			1 - 5

Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2
	Match 01	Match 02	Match 03	Match 04											
231	199	213	204	227		176	194								
180	227	194	211	179		233	228								
176	139	194	240	194		211	176								
218	235	223	213	182		180	232								
213	206	242	211	204		264	181								
-	-	-	-	-		289	268								
-	-	-	-	-		-	-								
1,018	1,006	1,066	1,079	986	5,155	1,353	1,558								
1,054	1,028	1,068	861	981	4,992	1,174	1,420								
MCK	LTU	JVL	QUI	NEB		NEB	JVL								
L	L	L	W	W	2 - 3	4.5-1.5	4-3								

SAM HOUSTON STATE UNIVERSITY	Trad	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05	Match 06			
BURKE, ABIGAIL	-	-	-	-	-	-	-	-	0.00
GREEN, MIYA	269	202	233	206	193	235	1,338	6	223.00
SARNTONG, NOEY	210	216	202	195	186	213	1,222	6	203.67
SILLIS, JESSICA	-	-	-	-	175	-	175	1	175.00
CHEWENS, BREANA	202	235	204	254	202	200	1,297	6	216.17
GONZALES, ANA	174	183	177	171	-	166	871	5	174.20
HART, EMILY	170	224	214	216	188	193	1,205	6	200.83
,	-	-	-	-	-	-	-	-	0.00
,	-	-	-	-	-	-	-	-	0.00
,	-	-	-	-	-	-	-	-	0.00
TIEBREAKER	-	-	-	-	-	-	-	-	-
Total	1,025	1,060	1,030	1,042	944	1,007	6,108	30	1018.0
Opponent Score	1,154	1,092	967	975	1,014	1,005	6,207		1034.5
Opponent	JVL	ARK	MAR	VAN	YSU	WSU			
W/L	L	L	W	W	L	W			3 - 3

Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2
	Match 01	Match 02	Match 03	Match 04											
199	152	213	181	189		199	197								
201	177	222	202	193		213	226								
195	179	163	181	200		204	204								
186	257	157	213	193		238	187								
180	220	165	192	234		187	183								
-	-	-	-	-		179	-								
-	-	-	-	-		163	-								
961	985	920	969	1,009	4,844	1,383	997								
1,033	918	830	887	970	4,638	1,336	1,034								
NEB	MCK	QUI	DRU	LTU		VAN	ARK								
L	W	W	W	W	4 - 1	3-4	1-4								

NEBRASKA, UNIV. OF	Trad	Trad	Trad	Trad	Trad	Trad	Series	Games	Average
	Match 01	Match 02	Match 03	Match 04	Match 05	Match 06			
CAPRON, KARINA	208	167	212	-	-	181	768	4	192.00
BREEDLOVE, LANI	175	237	188	-	-	-	600	3	200.00
SWINDLE, HALEY	247	241	214	204	238	164	1,308	6	218.00
STARKEY, ABIGAIL	-	-	-	-	-	-	-	-	0.00
HARTZLER, BRENNAN	215	226	193	184	239	181	1,238	6	206.33
YOCHE, ASHTYN	-	-	-	-	-	-	-	-	0.00
MARTIN, JILLIAN	258	259	275	164	234	206	1,396	6	232.67
BOWMAN, KATHRYN	-	-	-	-	-	-	-	-	0.00
STARR, KAYLA	-	-	-	186	257	215	658	3	219.33
BUCHERT, DESIREE	-	-	-	203	186	-	389	2	194.50
TIEBREAKER	-	-	-	-	-	-	-	-	-
Total	1,103	1,130	1,082	941	1,154	947	6,357	30	1059.5
Opponent Score	1,045	861	923	958	807	1,231	5,825		970.8
Opponent	VAN	QUI	MCK	LTU	DRU	JVL			
W/L	W	W	W	L	W	L			4 - 2

Baker	Baker	Baker	Baker	Baker	Total Baker	Game 1	Game 2	Game 3	Game 4	Game 5	Game 6	Game 7	Tie Breaker	xRND 1	xRND 2
	Match 01	Match 02	Match 03	Match 04											
215	231	215	161	192		203	223								
223	201	229	167	185		233	176								
237	222	189	208	183		205	192								
146	190	221	190	180		159	187								
212	214	196	193	241		178	203								
-	-	-	-	-		196	184								
-	-	-	-	-		-	214								
1,033	1,058	1,050	919	981	5,041	1,174	1,379								
961	969	1,029	1,079	986	5,024	1,353									

2026 BIG RED INVITE

2026 BIG RED INVITE : W-L OPPONENT RECAP

EVENT	(All)
FORMAT	(All)

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame
ARKANSAS STATE UNIVERSITY	Baker Match 01	QUINCY UNIVERSITY	1	0	907	888	0	0	5	181.4
	Baker Match 02	NEBRASKA, UNIV. OF	0	1	969	1,058	0	0	5	193.8
	Baker Match 03	MCKENDREE UNIVERSITY	0	1	977	994	0	0	5	195.4
	Baker Match 04	JACKSONVILLE STATE UNIVERSITY	0	1	1,028	1,143	0	0	5	205.6
	Baker Match 05	WESTERN ILLINOIS UNIVERSITY	1	0	1,052	855	0	0	5	210.4
	Trad Match 01	LOUISIANA TECH UNIVERSITY	1	0	1,006	996	0	0	5	201.2
	Trad Match 02	SAM HOUSTON STATE UNIVERSITY	1	0	1,092	1,060	0	0	5	218.4
	Trad Match 03	VANDERBILT UNIVERSITY	1	0	998	896	0	0	5	199.6
	Trad Match 04	YOUNGSTOWN STATE UNIVERSITY	1	0	983	911	0	0	5	196.6
	Trad Match 05	WICHITA STATE UNIVERSITY	1	0	1,061	995	0	0	5	212.2
	Trad Match 06	MARYVILLE UNIVERSITY	0	1	914	990	0	0	5	182.8
	xRND 1	LOUISIANA TECH UNIVERSITY	0	1	1,388	1,423			7	198.3
	xRND 2	SAM HOUSTON STATE UNIVERSITY	1	0	1,034	997			5	206.8
ARKANSAS STATE UNIVERSITY Total			8	5	13,409	13,206	0	0	67	200.1
JACKSONVILLE STATE UNIVERSITY	Baker Match 01	VANDERBILT UNIVERSITY	1	0	1,057	991	0	0	5	211.4
	Baker Match 02	MARYVILLE UNIVERSITY	1	0	1,135	1,023	0	0	5	227.0
	Baker Match 03	WICHITA STATE UNIVERSITY	1	0	1,068	1,066	0	0	5	213.6
	Baker Match 04	ARKANSAS STATE UNIVERSITY	1	0	1,143	1,028	0	0	5	228.6
	Baker Match 05	YOUNGSTOWN STATE UNIVERSITY	1	0	1,103	906	0	0	5	220.6
	Trad Match 01	SAM HOUSTON STATE UNIVERSITY	1	0	1,154	1,025	0	0	5	230.8
	Trad Match 02	MCKENDREE UNIVERSITY	1	0	1,001	909	0	0	5	200.2
	Trad Match 03	LOUISIANA TECH UNIVERSITY	1	0	1,125	965	0	0	5	225.0
	Trad Match 04	WESTERN ILLINOIS UNIVERSITY	1	0	1,012	904	0	0	5	202.4
	Trad Match 05	QUINCY UNIVERSITY	1	0	949	789	0	0	5	189.8
	Trad Match 06	NEBRASKA, UNIV. OF	1	0	1,231	947	0	0	5	246.2
	xRND 1	MARYVILLE UNIVERSITY	1	0	1,213	1,199			6	202.2
	xRND 2	WICHITA STATE UNIVERSITY	0	1	1,420	1,558			7	202.9
JACKSONVILLE STATE UNIVERSITY Total			12	1	14,611	13,310	0	0	68	214.9
LOUISIANA TECH UNIVERSITY	Baker Match 01	MARYVILLE UNIVERSITY	1	0	1,014	955	0	0	5	202.8
	Baker Match 02	WICHITA STATE UNIVERSITY	1	0	1,028	1,006	0	0	5	205.6
	Baker Match 03	VANDERBILT UNIVERSITY	0	1	950	1,100	0	0	5	190.0
	Baker Match 04	YOUNGSTOWN STATE UNIVERSITY	1	0	1,031	894	0	0	5	206.2
	Baker Match 05	SAM HOUSTON STATE UNIVERSITY	0	1	970	1,009	0	0	5	194.0
	Trad Match 01	ARKANSAS STATE UNIVERSITY	0	1	996	1,006	0	0	5	199.2
	Trad Match 02	WESTERN ILLINOIS UNIVERSITY	1	0	998	860	0	0	5	199.6
	Trad Match 03	JACKSONVILLE STATE UNIVERSITY	0	1	965	1,125	0	0	5	193.0
	Trad Match 04	NEBRASKA, UNIV. OF	1	0	958	941	0	0	5	191.6
	Trad Match 05	MCKENDREE UNIVERSITY	1	0	935	913	0	0	5	187.0
	Trad Match 06	QUINCY UNIVERSITY	1	0	1,078	829	0	0	5	215.6
	xRND 1	ARKANSAS STATE UNIVERSITY	1	0	1,423	1,388			7	203.3
	xRND 2	VANDERBILT UNIVERSITY	0	1	1,258	1,261			6	209.7
LOUISIANA TECH UNIVERSITY Total			8	5	13,604	13,287	0	0	68	200.1
MARYVILLE UNIVERSITY	Baker Match 01	LOUISIANA TECH UNIVERSITY	0	1	955	1,014	0	0	5	191.0

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame
MARYVILLE UNIVERSITY	Baker Match 02	JACKSONVILLE STATE UNIVERSITY	0	1	1,023	1,135	0	0	5	204.6
	Baker Match 03	WESTERN ILLINOIS UNIVERSITY	1	0	1,083	882	0	0	5	216.6
	Baker Match 04	NEBRASKA, UNIV. OF	1	0	1,079	919	0	0	5	215.8
	Baker Match 05	MCKENDREE UNIVERSITY	1	0	968	960	0	0	5	193.6
	Trad Match 01	QUINCY UNIVERSITY	1	0	1,030	818	0	0	5	206.0
	Trad Match 02	YOUNGSTOWN STATE UNIVERSITY	1	0	1,014	948	0	0	5	202.8
	Trad Match 03	SAM HOUSTON STATE UNIVERSITY	0	1	967	1,030	0	0	5	193.4
	Trad Match 04	WICHITA STATE UNIVERSITY	1	0	1,034	1,024	0	0	5	206.8
	Trad Match 05	VANDERBILT UNIVERSITY	1	0	950	896	0	0	5	190.0
	Trad Match 06	ARKANSAS STATE UNIVERSITY	1	0	990	914	0	0	5	198.0
	xRND 1	JACKSONVILLE STATE UNIVERSITY	0	1	1,199	1,213			6	199.8
	xRND 2	NEBRASKA, UNIV. OF	0	1	1,361	1,379			7	194.4
MARYVILLE UNIVERSITY Total			8	5	13,653	13,132	0	0	68	200.8
MCKENDREE UNIVERSITY	Baker Match 01	WICHITA STATE UNIVERSITY	1	0	1,054	1,018	0	0	5	210.8
	Baker Match 02	SAM HOUSTON STATE UNIVERSITY	0	1	918	985	0	0	5	183.6
	Baker Match 03	ARKANSAS STATE UNIVERSITY	1	0	994	977	0	0	5	198.8
	Baker Match 04	VANDERBILT UNIVERSITY	1	0	1,076	957	0	0	5	215.2
	Baker Match 05	MARYVILLE UNIVERSITY	0	1	960	968	0	0	5	192.0
	Trad Match 01	YOUNGSTOWN STATE UNIVERSITY	0	1	920	1,009	0	0	5	184.0
	Trad Match 02	JACKSONVILLE STATE UNIVERSITY	0	1	909	1,001	0	0	5	181.8
	Trad Match 03	NEBRASKA, UNIV. OF	0	1	923	1,082	0	0	5	184.6
	Trad Match 04	QUINCY UNIVERSITY	1	0	946	915	0	0	5	189.2
	Trad Match 05	LOUISIANA TECH UNIVERSITY	0	1	913	935	0	0	5	182.6
	Trad Match 06	WESTERN ILLINOIS UNIVERSITY	1	0	986	875	0	0	5	197.2
	xRND 1	QUINCY UNIVERSITY	1	0	1,043	839			5	208.6
	xRND 2	YOUNGSTOWN STATE UNIVERSITY	0	1	930	995			5	186.0
	MCKENDREE UNIVERSITY Total			6	7	12,572	12,556	0	0	65
NEBRASKA, UNIV. OF	Baker Match 01	SAM HOUSTON STATE UNIVERSITY	1	0	1,033	961	0	0	5	206.6
	Baker Match 02	ARKANSAS STATE UNIVERSITY	1	0	1,058	969	0	0	5	211.6
	Baker Match 03	YOUNGSTOWN STATE UNIVERSITY	1	0	1,050	1,029	0	0	5	210.0
	Baker Match 04	MARYVILLE UNIVERSITY	0	1	919	1,079	0	0	5	183.8
	Baker Match 05	WICHITA STATE UNIVERSITY	0	1	981	986	0	0	5	196.2
	Trad Match 01	VANDERBILT UNIVERSITY	1	0	1,103	1,045	0	0	5	220.6
	Trad Match 02	QUINCY UNIVERSITY	1	0	1,130	861	0	0	5	226.0
	Trad Match 03	MCKENDREE UNIVERSITY	1	0	1,082	923	0	0	5	216.4
	Trad Match 04	LOUISIANA TECH UNIVERSITY	0	1	941	958	0	0	5	188.2
	Trad Match 05	WESTERN ILLINOIS UNIVERSITY	1	0	1,154	807	0	0	5	230.8
	Trad Match 06	JACKSONVILLE STATE UNIVERSITY	0	1	947	1,231	0	0	5	189.4
	xRND 1	WICHITA STATE UNIVERSITY	0	1	1,174	1,353			6	195.7
	xRND 2	MARYVILLE UNIVERSITY	1	0	1,379	1,361			7	197.0
	NEBRASKA, UNIV. OF Total			8	5	13,951	13,563	0	0	68
QUINCY UNIVERSITY	Baker Match 01	ARKANSAS STATE UNIVERSITY	0	1	888	907	0	0	5	177.6
	Baker Match 02	YOUNGSTOWN STATE UNIVERSITY	0	1	867	1,027	0	0	5	173.4
	Baker Match 03	SAM HOUSTON STATE UNIVERSITY	0	1	830	920	0	0	5	166.0
	Baker Match 04	WICHITA STATE UNIVERSITY	0	1	861	1,079	0	0	5	172.2
	Baker Match 05	VANDERBILT UNIVERSITY	0	1	976	998	0	0	5	195.2
	Trad Match 01	MARYVILLE UNIVERSITY	0	1	818	1,030	0	0	5	163.6
	Trad Match 02	NEBRASKA, UNIV. OF	0	1	861	1,130	0	0	5	172.2
	Trad Match 03	WESTERN ILLINOIS UNIVERSITY	1	0	1,014	929	0	0	5	202.8

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame
QUINCY UNIVERSITY	Trad Match 04	MCKENDREE UNIVERSITY	0	1	915	946	0	0	5	183.0
	Trad Match 05	JACKSONVILLE STATE UNIVERSITY	0	1	789	949	0	0	5	157.8
	Trad Match 06	LOUISIANA TECH UNIVERSITY	0	1	829	1,078	0	0	5	165.8
	xRND 1	MCKENDREE UNIVERSITY	0	1	839	1,043			5	167.8
	xRND 2	WESTERN ILLINOIS UNIVERSITY	0	1	810	989			5	162.0
QUINCY UNIVERSITY Total			1	12	11,297	13,025	0	0	65	173.8
SAM HOUSTON STATE UNIVERSITY	Baker Match 01	NEBRASKA, UNIV. OF	0	1	961	1,033	0	0	5	192.2
	Baker Match 02	MCKENDREE UNIVERSITY	1	0	985	918	0	0	5	197.0
	Baker Match 03	QUINCY UNIVERSITY	1	0	920	830	0	0	5	184.0
	Baker Match 04	WESTERN ILLINOIS UNIVERSITY	1	0	969	887	0	0	5	193.8
	Baker Match 05	LOUISIANA TECH UNIVERSITY	1	0	1,009	970	0	0	5	201.8
	Trad Match 01	JACKSONVILLE STATE UNIVERSITY	0	1	1,025	1,154	0	0	5	205.0
	Trad Match 02	ARKANSAS STATE UNIVERSITY	0	1	1,060	1,092	0	0	5	212.0
	Trad Match 03	MARYVILLE UNIVERSITY	1	0	1,030	967	0	0	5	206.0
	Trad Match 04	VANDERBILT UNIVERSITY	1	0	1,042	975	0	0	5	208.4
	Trad Match 05	YOUNGSTOWN STATE UNIVERSITY	0	1	944	1,014	0	0	5	188.8
	Trad Match 06	WICHITA STATE UNIVERSITY	1	0	1,007	1,005	0	0	5	201.4
	xRND 1	VANDERBILT UNIVERSITY	0	1	1,383	1,336			7	197.6
	xRND 2	ARKANSAS STATE UNIVERSITY	0	1	997	1,034			5	199.4
	SAM HOUSTON STATE UNIVERSITY Total			7	6	13,332	13,215	0	0	67
VANDERBILT UNIVERSITY	Baker Match 01	JACKSONVILLE STATE UNIVERSITY	0	1	991	1,057	0	0	5	198.2
	Baker Match 02	WESTERN ILLINOIS UNIVERSITY	1	0	1,020	807	0	0	5	204.0
	Baker Match 03	LOUISIANA TECH UNIVERSITY	1	0	1,100	950	0	0	5	220.0
	Baker Match 04	MCKENDREE UNIVERSITY	0	1	957	1,076	0	0	5	191.4
	Baker Match 05	QUINCY UNIVERSITY	1	0	998	976	0	0	5	199.6
	Trad Match 01	NEBRASKA, UNIV. OF	0	1	1,045	1,103	0	0	5	209.0
	Trad Match 02	WICHITA STATE UNIVERSITY	1	0	1,053	977	0	0	5	210.6
	Trad Match 03	ARKANSAS STATE UNIVERSITY	0	1	896	998	0	0	5	179.2
	Trad Match 04	SAM HOUSTON STATE UNIVERSITY	0	1	975	1,042	0	0	5	195.0
	Trad Match 05	MARYVILLE UNIVERSITY	0	1	896	950	0	0	5	179.2
	Trad Match 06	YOUNGSTOWN STATE UNIVERSITY	0	1	1,007	1,021	0	0	5	201.4
	xRND 1	SAM HOUSTON STATE UNIVERSITY	1	0	1,336	1,383			7	190.9
	xRND 2	LOUISIANA TECH UNIVERSITY	1	0	1,261	1,258			6	210.2
	VANDERBILT UNIVERSITY Total			6	7	13,535	13,598	0	0	68
WESTERN ILLINOIS UNIVERSITY	Baker Match 01	YOUNGSTOWN STATE UNIVERSITY	0	1	894	973	0	0	5	178.8
	Baker Match 02	VANDERBILT UNIVERSITY	0	1	807	1,020	0	0	5	161.4
	Baker Match 03	MARYVILLE UNIVERSITY	0	1	882	1,083	0	0	5	176.4
	Baker Match 04	SAM HOUSTON STATE UNIVERSITY	0	1	887	969	0	0	5	177.4
	Baker Match 05	ARKANSAS STATE UNIVERSITY	0	1	855	1,052	0	0	5	171.0
	Trad Match 01	WICHITA STATE UNIVERSITY	0	1	836	980	0	0	5	167.2
	Trad Match 02	LOUISIANA TECH UNIVERSITY	0	1	860	998	0	0	5	172.0
	Trad Match 03	QUINCY UNIVERSITY	0	1	929	1,014	0	0	5	185.8
	Trad Match 04	JACKSONVILLE STATE UNIVERSITY	0	1	904	1,012	0	0	5	180.8
	Trad Match 05	NEBRASKA, UNIV. OF	0	1	807	1,154	0	0	5	161.4
	Trad Match 06	MCKENDREE UNIVERSITY	0	1	875	986	0	0	5	175.0
	xRND 1	YOUNGSTOWN STATE UNIVERSITY	0	1	657	830			4	164.3
	xRND 2	QUINCY UNIVERSITY	1	0	989	810			5	197.8
	WESTERN ILLINOIS UNIVERSITY Total			1	12	11,182	12,881	0	0	64
WICHITA STATE UNIVERSITY	Baker Match 01	MCKENDREE UNIVERSITY	0	1	1,018	1,054	0	0	5	203.6

SCHOOL	MATCH	OPPONENT	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of	Sum of
			WIN	LOSS	PINS	OPP-PINS	TieBreak Pins	TieBreak Opp Pins	GAMES	AvgGame
WICHITA STATE UNIVERSITY	Baker Match 02	LOUISIANA TECH UNIVERSITY	0	1	1,006	1,028	0	0	5	201.2
	Baker Match 03	JACKSONVILLE STATE UNIVERSITY	0	1	1,066	1,068	0	0	5	213.2
	Baker Match 04	QUINCY UNIVERSITY	1	0	1,079	861	0	0	5	215.8
	Baker Match 05	NEBRASKA, UNIV. OF	1	0	986	981	0	0	5	197.2
	Trad Match 01	WESTERN ILLINOIS UNIVERSITY	1	0	980	836	0	0	5	196.0
	Trad Match 02	VANDERBILT UNIVERSITY	0	1	977	1,053	0	0	5	195.4
	Trad Match 03	YOUNGSTOWN STATE UNIVERSITY	0	1	1,084	1,136	0	0	5	216.8
	Trad Match 04	MARYVILLE UNIVERSITY	0	1	1,024	1,034	0	0	5	204.8
	Trad Match 05	ARKANSAS STATE UNIVERSITY	0	1	995	1,061	0	0	5	199.0
	Trad Match 06	SAM HOUSTON STATE UNIVERSITY	0	1	1,005	1,007	0	0	5	201.0
	xRND 1	NEBRASKA, UNIV. OF	1	0	1,353	1,174			6	225.5
	xRND 2	JACKSONVILLE STATE UNIVERSITY	1	0	1,558	1,420			7	222.6
WICHITA STATE UNIVERSITY Total			5	8	14,131	13,713	0	0	68	207.8
YOUNGSTOWN STATE UNIVERSITY	Baker Match 01	WESTERN ILLINOIS UNIVERSITY	1	0	973	894	0	0	5	194.6
	Baker Match 02	QUINCY UNIVERSITY	1	0	1,027	867	0	0	5	205.4
	Baker Match 03	NEBRASKA, UNIV. OF	0	1	1,029	1,050	0	0	5	205.8
	Baker Match 04	LOUISIANA TECH UNIVERSITY	0	1	894	1,031	0	0	5	178.8
	Baker Match 05	JACKSONVILLE STATE UNIVERSITY	0	1	906	1,103	0	0	5	181.2
	Trad Match 01	MCKENDREE UNIVERSITY	1	0	1,009	920	0	0	5	201.8
	Trad Match 02	MARYVILLE UNIVERSITY	0	1	948	1,014	0	0	5	189.6
	Trad Match 03	WICHITA STATE UNIVERSITY	1	0	1,136	1,084	0	0	5	227.2
	Trad Match 04	ARKANSAS STATE UNIVERSITY	0	1	911	983	0	0	5	182.2
	Trad Match 05	SAM HOUSTON STATE UNIVERSITY	1	0	1,014	944	0	0	5	202.8
	Trad Match 06	VANDERBILT UNIVERSITY	1	0	1,021	1,007	0	0	5	204.2
	xRND 1	WESTERN ILLINOIS UNIVERSITY	1	0	830	657			4	207.5
xRND 2	MCKENDREE UNIVERSITY	1	0	995	930			5	199.0	
YOUNGSTOWN STATE UNIVERSITY Total			8	5	12,693	12,484	0	0	64	198.3
Grand Total			78	78	157,970	157,970	0	0	800	197.5

SCHOOL	MATCH	OPPONENT	Sum of WIN	Sum of LOSS	Sum of PINS	Sum of OPP-PINS	Sum of TieBreak Pins	Sum of TieBreak Opp Pins	Sum of GAMES	Sum of AvgGame
--------	-------	----------	------------	-------------	-------------	-----------------	----------------------	--------------------------	--------------	----------------